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clear all;

clear;clc

S=100;

K=100;

r=0.02;

vol=0.3;

T=4/12;

nsteps=4;
dt=T/nsteps;
dividend=0;

D=6;

r=r-dividend;
CallPutFlag='c"';
nsimulations=4600000;
inter=0.1;

vol2=0.4;

[Call, Put] = blsprice(S, K, r, T, vol2);

G=Call;

for i=1l:inf;

MC ST posi(l,1i)=S;

MC ST negi(1l,1i)=S;

MC ST hat(1,i)=S;

for j=2:nsteps;

RAN=randn(1,1);

MC ST posi(j,1)=MC_ST posi(j-1,1i)*exp((r-0.5*vol”2)*dt+vol*RAN*dt"0.5

)7
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MC ST negi(j,1i)=MC_ST negi(j-1,1i)*exp((r-0.5*vol"2)*dt+vol* (-RAN) *dt"

0.5);

MC ST hat(j,1)=MC_ ST hat(j-1,1)*exp((r-0.5*vol2"2)*dt+vol2*RAN*dt"0.5
)7

end

MS CT posi=MC ST posi(end,i)-K;
if MS CT posi<O
MS CT posi=0;

end

MS CT negi=MC ST negi (end, i) -K;
if MS CT negi<o
MS CT negi=0;

end

MS CT hat=MC_ ST hat (end,i)-K;
if MS CT hat<0
MS CT hat=0;

end

CALL simple(i,1)=MS CT posi*exp(-r*T);
meanCALL simple=mean (CALL simple);

sdCALL simple=std(CALL simple);

CALL antithetic(i,1)=((MS _CT posi+MS CT negi)/2)*exp (-r*T);
meanCALL antithetic=mean (CALL antithetic);
sdCALL antithetic=std(CALL antithetic);

CALL hat(i,1)=MS CT hat*exp(-r*T);

CALL control=G+CALL simple-CALL hat;

meanCALL control=mean (CALL control);
8
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sdCALL control=std(CALL control);

if i>1

if inter>2*1.96*sdCALL simple/i”0.5
break
end
end
clc,process=1i

end

S=S-D*exp (-r*2/12) ;
nsteps=5;

dt=T/ (nsteps-1) ;

if CallPutFlag=='c"',

z=1;
else

z=-1;
end;

smat=zeros (nsimulations,nsteps) ;
CC=zeros (nsimulations, nsteps);
CE=zeros (nsimulations,nsteps) ;

EF=zeros (nsimulations,nsteps);

smat(:,1)=S;

drift=(r-vol”2/2) *dt;

vsgrdt=vol*dt”~0.5;

for g=l:nsimulations,

curtime=0;

for k=2:nsteps,
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curtime=curtime+dt;
st=st*exp (drift+vsgrdt*randn) ;
smat (g, k) =st;

end

end

CC=smat*0;

CE=smat*0;

EF=smat*0;

st=smat (:,nsteps);
CE(:,nsteps)=max(z* (st-K),0);
CC(:,nsteps)=CE(:,nsteps) ;

EF(:,nsteps)=(CE(:,nsteps) >0);

paramat=zeros (3,nsteps) ;

for k=nsteps-1:-1:2,
st=smat (:,k);
if k==
CE(:,k)=max(z* (st+D-K),0);
else
CE(:,k)=max (z* (st-K),0);
end
idx=find (CE (:, k) >0) ;
Xvec=smat (idx, k) ;
Yvec=CC (idx, k+1) *exp (-r*dt) ;
p=polyfit (Yvec,Xvec,2);
CC(idx, k)=polyval (p, Xvec) ;
EF (idx, k) =CE (idx, k) > CC(idx,k);
EF (find(EF (:,k)),k+l:nsteps)=0;
paramat (:,k)=p;
idx=find(EF (:,k) == 0);
CC (idx, k)=CC (idx, k+1) *exp (-r*dt) ;

idx=find(EF(:,k) == 1);
10
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CC (idx, k) =CE (idx, k) ;

end

payoff sum=0;

sdMCAmericanPrice=0;

for v=2:nsteps,

idx=find(EF (:,v) == 1);

st=smat (idx,v);

payoffvec=exp (-r* (v-1) *dt) *max (z* (st-K),0) ;

payoff sum=payoff sum+sum(payoffvec);

MCAmericanPrice=payoff sum/nsimulations;
sdMCAmericanPrice=sdMCAmericanPrice+sum( (payoffvec-MCAmericanPrice) .”
2)/ (nsimulations-1);

end

ierror=2*1.96*sdMCAmericanPrice/g"0.5

[Call, Put] = blsprice(S, K, r, T, vol);

bs call=Call;
g=MCAmericanPrice-1.96*sdMCAmericanPrice/qg"0.5;
h=MCAmericanPrice+1.96*sdMCAmericanPrice/qg"0.5;
fprintf ('CALL PRICE=%4.4f\n',MCAmericanPrice)
fprintf ('std. error=%4.4f\n',sdMCAmericanPrice/qg”~0.5)
fprintf (' [%4.4f %$4.4f]\n"',qg,h)

fprintf('\n")

e=meanCALL control-1.96*sdCALL control/i”0.5;
f=meanCALL control+l.96*sdCALL control/i”0.5;
fprintf ('CALL PRICE=%4.4f\n',meanCALLicontrol)
fprintf('std. error=%4.4f\n',sdCALL control/i"0.5)
fprintf (' [%4.4f %4.4f]\n"',e, )

fprintf('\n")

c=meanCALL antithetic-1.96*sdCALL antithetic/i”0.5;

d=meanCALL antithetic+1.96*sdCALL antithetic/i70.5;
11
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fprintf ('CALL PRICE=%4.4f\n',meanCALL antithetic)
fprintf('std. error=%4.4f\n',sdCALL antithetic/i"0.5)
fprintf (' [%4.4f $4.4f]\n',c,d)

fprintf ('\n")

a=meanCALL simple-1.96*sdCALL simple/i”0.5;
b=meanCALL simple+1l.96*sdCALL simple/i”0.5;

fprintf ('CALL PRICE=%4.4f\n',meanCALL_simple)
fprintf('std. error=%4.4f\n',sdCALL simple/i”"0.5)

fprintf (' [%4.4f $4.4f]\n',a,b)
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